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B.Sc.
3rd Semester Examination
PHYSIOLOGY (General)
Paper - SEC-IT
Full Marks : 40 Time : 2 Hours

The questions are of equal value for any group/half. The
figures in the margin indicate full marks. Candidates are
required (o give their answers in their own words as far
as practiable. Illustrate the answers wherever necessary.

PUBLIC HEALTH & EPIDEMIOLOGY

* 1. Answer any five questions from the following : 5x2
(1) What is aerosol? Give an example. 2
() What 1s standard error in statistics? 2

(i) State the adverse effects of photochemical smog on
human health. : ' 2

(iv) Mention the role of tertiary health care system. 2

(v) Enlist few social issues detenminning public heath. 2
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(vi) What are the core functions of public health services ?

/

(viy What is descriptive epidemiology? 2
(vi) Define cluster sampling. 2
2. Answer any four questions from the following : 4x5

(i) What is 'Biostatistics' ? Elaborate briefly the different
sampling techniques adopted in Biostatistics.  2+3

(i) Discuss briefly the ecological mode! of population
health? What is Farmer's lung desease? 342

(ui) Claséiﬁz the environmental pollutants giving suitable
examples for cach. What 1s Silicosis? 3+2

(iv) Name the causative agent for AIDS. Mention the
objectives of immunization programme. What is the
difference between active and passive immunizaion ?

1+2+2

(v) Enumerate the health hazards of arsemic polluted
water. What are the steps taken to prevent arsenic
pollution? _ 3+2

(vi) Mention the strategies adopted to reduce the risk of
chronic illngss, What are lifestyle diseases ? Briefly
explain with proper example. Va2l
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2. Answer any one question from the following : 1«10

(i) What is meant by environmental health policy? How
does it work to improve human health? Briefly explain
the legislative control on air pollution for ensuring
improved public health in India. Discuss the impact of
food production and consumption on environmental
health. 2+245+245+3

(i) Discuss the measures adopted for controlling AIDS.
State the hazards of immurization. 5435
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ENVIRONMENT EPIDEMIOLOGY

. Answer any five questions from the following : 5%2

Mention the objectives of epidemiiological study. 2

What is quesitonraire method in field study ? Why
is it considered a good research method? i+1

What 1s meant by biomedical waste? Mention one
way in which biomedical waste management 1s done.
2

Define cumulative incidence rate and mortality rate in
the light of epidemiology. 1+1

Indicate the difference between case-contro! study and
analytical-cohort in epidemiological study. 2

What 1s muiti-stage sampling? Bnefly explain with the
help of an example. 1+1

What 1s acid rain? Indicate human health hazards
tmposed by it. 1+1

State the prevention and control measures for
poliomyelitis briefly. 1+1

Y.
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2. Answer any four questions from the following : 4x5

®
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State Koch's postulates. Enumerate the limitations of
Koch's postulates. 2%+2%

What is field research? State its advantages as well
as disadvantages. 1+2+2

What went wrong in the Three Mile Island? What
caused the Seveso disaster? Name the gas that
caused Bhopal gas tragedy. SR

How are lifestyle and genetic disease different from
each other? Explain with proper examples Name
the vectors and causative micro organisms for
Leishmaniasis and Malaria. 3+i+1

What is data analysis? Mention the steps observed
in Data Science Process with the help of a flow
chart. 243

List down Hill's criteria for causation that can be
useful in establishing epidemiological evidence of
public health rescarch. Define LDy, in the light of

* doseresponse study for toxicity. 342

3, Answer any one question from the followmg : 1x10

Mention the health hazards of noise pollution in
human. What is the effect of thermal water
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pollution on dissolved oxygen in water? What is -
entrophication? Write a short note on heavy metal
mediated water pollution Vi

() Write a short note on diabetes management. What
are the symptoms of AIDS in an individual? Mention
the preventive measures for AIDS. Name the
causative agent of tuberculosis and also mention its
Immunization control. 4424242
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